(a)
(b)
(©)
(d)

(a)
(b)
(©)
(d)

(a)
(b)
()
(d)
4.

(a)
(b)
()
(d)
(a)
(b)
()
(d)
6.

(a)
(b)
()
(d)
7.

(a)
(b)
()
(d)
8.

(a)
(b)
(©)

BHU 14"MAY 2019 — 3 YEARS

The first Anti-terror legislation in India was:

FERA

NIA Act

TADA

POTA

When was National Immunization Day 2019 observed in India ?
9" March

10™ March

12" March

11" March

Marajoor jaggery, a world-famous delicacy, got a Geographical indication (Gl) tag
recently. It belongs to which state?

Tamil Nadu

Kerala

Odisha

Karnataka

Which of the fallowing statements about Ozone layer is incorrect?
Above 90% of the ozone in the Earth's atmosphere is found in troposphere.
Stratospheric ozone protects life on the Earth from the harmful effects of ultraviolet rays.
Ozone layer is found between about 16 and 13 km above the Earth's surface
The ozone is an air pollutant near ground that damages human health.

The first Attorney General of India was :

M.C. Setalvad

M.C. Chagla

Subbarao

Nani Palkhivala

'Stay Order’ has the effect of:

Stopping an order of lover court from execution

Status quo

Sine die

Pro rata

Sovereignty under Indian Constitution belongs to :

People of India

Judiciary

President of India

Parliament

In which of the following system of government distribution of powers is an essential
feature ?

Parliamentary system

Unitary system

Federal system



(d)
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(a)
(b)
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(a)
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(d)

(a)
(b)
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15.
(a)
(b)
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16.
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17.
(a)
(b)
(©)

Presidential system

Service tax was introduced in India on the recommendation of :

Dr. Man Mohan Singh Committee

Kelkar Committee

Dr. Yashwant Sinha Committee

Dr. Raja J Challiah Connuttee

An order of a Court pronounced on the hearing of a suit is called :

Deed

Degree

Dehor

Decree

Who can take part in the proceedings of Parliament without being its member?
Chief Election Commission

Chief of the Army Staff

Comptroller and Auditor General

Attorney General

Which one of the fallowing is not a part of Alternative Dispute Resolution ?
Litigation

Conciliation

Mediation

Arbitration

The Fundamental Duties are confined to:

Both citizens of India and all persons present in India including juristic persons
Citizens of India

Neither Citizens of India nor all persons present in India including juristic persons
All person is present in India including juristic persons

The power to include or exclude a caste in the Schedule under the Indian Constitution
lies with

Parliament

President

State Governor

A State Legislature

Any charge for impeachment of the President in India may be preferred :
Only in a joint session of Parliament

Only in council of states

In either House of Parliament

Only in House of People

Who has the power to dissolve the House of People ?

The Speaker of House of People

The Council of Ministers

The President

The Prime Minister

Central Institute of Indian Languages is located at ?

Bangalore

Mysore

Bhopal



(d)
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(a)
(b)
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(d)
19.
(a)
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20.

(a)
(b)
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(d)
21.
(a)
(b)
()
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22.

(a)
(b)
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23.

(a)
(b)
(©)
(d)
24,
(a)
(b)
(©)
(d)
25.
(a)
(b)
()
(d)

Lucknow

The maximum number of times when President’s rule has been imposed in & India
was in the State of:

Karnataka

Bihar

Uttar Pradesh

Manipur

Safeguarding of Forest is insured by which Article of the Indian Constitution?

Article 17

Article 43A

Article 48

Article 48A

The Supreme Court has approved to form mediation panel to resolve Rain Temple-
Babri Masjid dispute case. The mediation proceedings are scheduled to take place in
which city?

Varanasi

Faizabad

Prayagraj

Lucknow

Indian Law Institute (ILI) is located in :

Hyderabad

Shimla

Bhopal

New Delhi

Which of the following High Courts established the first Green Bench in the 2
Country?

Madras

Bombay

Calcutta

Allahabad

If a person is not a Member of Parliament and is appointed as Minister, then he
should get elected to either of the House of Parliament within :

One Year

Three months

Six months

One month

2018 Asian Games was held at:

Thailand

Singapore

Indonesia

Maldives

Which of the following is an incorrect statement about the governor ?

Governor administers oath to the High Court judges.

Governor is the executive head of the State.

Governor may impose President Rule in State.

Governor is appointed by the President of India.
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(a)
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32.
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34.
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The examination of a witness by the party' who called him is called :

Re Examination

Cross Examination

Examination-in-Chief

None of the three

Which of the following definitions of ‘Biodiversity Hotspot' is the most appropriate ?
A biogeographic region

A region of diverse ecosystems

A biogeographic region with significant levels of biodiversity that is threatened with
destruction

A biogeographic region with significant levels of biodiversity

Who of the following won Formula One Australian Grand Prix 2019 ?

Max Verstappen

Valtteri Bottas

Lewis Hamilton

Kimi Raikonen

10 percent reservation in jobs and education to economically backward section in the
general category has been provided by which amendment to the Indian Constitution ?
77th

103rd

123rd

25th

The provision for promotion of international peace and security exists in the :
Preamble of the constitution

Fundamental duties

Fundamental rights

Directive principles of state policy

The famous M’ Naughten Rules determine :

Law of sea

Insanity as defence

Established reasoning in criminal cases

Distinction between hut and grievous hurt

Ancient Bhima Devi Temple is located in which state?

Punjab

Haryana

Rajasthan

Himachal Pradesh

Which of the following are Committees of Parliament?

Both Public Accounts Committee and Comptroller & Auditor General of India
Neither Public Accounts Committee nor Comptroller and Auditor General of India
Public Accounts Committee

Comptroller and Auditor General of India

Point out the mismatched pair :

Right to Life - Article 21

Right to Education - Article 21A

Prohibition of employment of children in factories, etc. - Article 23



(d)
35.
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(b)
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37.
(a)
(b)
(c)
(d)
38.

(a)
(b)
(c)
(d)
39.
(a)
(b)
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(a)
(b)
()
(d)
41.
(a)
(b)
()
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42.
(a)
(b)
()
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Abolition of titles - Article 18

Cateat is

Writ

All injuice

A warning

Certiorari

The minimum age for contesting Rajya Sabha election :

351 year

25 year

30 year

21 year

Which of the following statements is correct about the Vice-President of India ?
Presides over the Joint sitting of two houses of parliament

Elected for six-year term

Elected by Rajya Sabha

Ex-Office Chairman of Council of States

Assertion (A): Under article 253 of the Indian Constitution, the Parliament can make any
law on international subjects, irrespective of the fact that the same item falls in the State
list, Central list or in the Concurrent list.

Reason (R): The Wildlife (Protection) Act, 1972 is one of the examples of this practice.
A is false but R is true

A is true but R is false

Both A and Rare individually true but R is not the correct explanation of A

Both A and Rare individually true and R is the correct explanation of A

Innuendo hints at:

Conversion

Defamation

Trespass

Insinuation

Principle — Marriage is not valid only by mere exchange of garland.

Fact —'A’" and 'B' married through exchange of garland and got their marriage registered by
furnishing affidavit

Marriage is valid by exchange of garland if registration is done

Marriage of A & B is valid even without registration

Marriage is invalid even if registration is done

Marriage of A & B is not valid because it was by exchange of garland

Private International law is also called:

Civil law

Common law

Local laws

Conflict of law

Husband and wife have a right to each other's company. This right is called :
Legal right

Conjugal right

Matrimonial right

Consortium right
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(a)
(b)
(©)
(d)
44,

(a)
(b)
()
(d)
45,
(a)
(b)
()
(d)
46.

(a)
(b)
()
(d)
47.
(a)
(b)
(©)
(d)
48.

(a)
(b)
()
(d)
49,
(a)
(b)
(c)
(d)
50.

(a)
(b)

Principle — Attempt is an inchoate offence under Indian Penal Code, 1860.

Fact — A with an intention to steal some rupees from the pocket of B, puts his hand into his
pocket and unfortunately pulls the trigger of the gun causing B's death

A is not guilty of any offence

A is guilty of both the offences of attempt to theft and murder

A is guilty of attempt to theft

A is guilty of committing murder of B

Assertion (A) - National Green Tribunal Act, 2010 established Green Tribunal as a
specialised environment tribunal to settle the environmental cases and matters efficiently
Reason (R) - National Green Tribunal is a Writ Court and can decide fundamental right
violation cases in relation to environmental accidents and matters connected thereto.
Both A and R are individually true and R is the correct explanation of A

A is true but R is false

Both A and R are individually true but R is not the correct explanation of A

A is false but R is true

The blood leaving the tissues becomes richer in :

Water

Heamoglobin

Oxygen

Carbon dioxide

Which of the following falls in the category of Fundamental duties under the Indian
Constitution

to defend the country

all of the three

to abide by the constitution and respect the national flag and national antlienl.

to safeguard the public property

The National Legal Services Authority (NALSA) was constituted in:

1990

1985

1995

1988

President Rain Nath Kovind conferred the Padam Shri 2019 on which of the following
personality?

Gautam Gambhir

Bachendri Pal

Teejan Bai

Nambi Narayan

According to the General Clauses Act, ""Month™ is to be reckoned as per:

Vikram Samvat

Saka Era

British Calendar

Julian Calendar

In which of the following state of India located a tiger reserve, which is also a World
Heritage Site ?

Assam

Karnataka



(c) Rajasthan

(d) Madhya Pradesh

51. Under citizenship Act, 1955, which of the following can be a mode of acquisition to
citizenship in India ?

(a) By nationality

(b) By birth

(c) By descent

(d) Both By birth & By descent

52.  Which of the following High Courts in India were established in year 2013 ?

(@) Manipur, Tripura, Jharkhand

(b) Meghalaya, Tripura, Chhatisgarh

(c) Manipur, Meghalaya, Tripura

(d) Manipur, Meghalaya, Uttarakhand

53. The repository of constitutional trust is:

(@) Chief Justice of India

(b) Speaker of Lok-Sabha

(c) President

(d) Chairman of Rajya Sabha

54. The Right to Information Act, 2005 primarily helpsin :

(@) Social Integrity

(b) Political Reforms

(c) Transparent Administration

(d) Legal Reforms

55.  Which of the following legislation regulates electronic commerce ?

(@) Trade Marks Act, 1999

(b) Information Technology Act, 2000

(c) Copyright Act, 1957

(d) Contract Act, 1872

56. The Indian Constitution provides for the following kinds of emergencies :

(@) Financial emergency

(b) Emergency due to war, external aggression or armed rebellion

(c) Administrative Emergency

(d) Emergency due to war, external aggression or armed rebellion and Financial emergency.

57. To seek the services of a legal practitioner of his own choice is guaranteed as a
fundamental right under:

(a) Article 22(1)

(b) Article 39A

(c) Article 21A

(d) Article 32

58. Which of the following is a work of Kalhana ?

(@) Vikramankdevcharita

(b) Mudrarakshash

(c) Abhigyansakutlam

(d) Rajtarangini

59. "India, that is Bharat, shall be a Union of States', is provided in following provisions
of the constitution of India:”



(&) Article 14

(b) Article 124

(c) Article 240

(d) Article 1(1)

60. The Constitution of India recognizes :

(@) Religious, linguistic and ethnic minorities

(b)  Only religious minorities

(c) Only linguistic minorities

(d) Religious and linguistic minorities

61. Ace Against Odds' is an autobiography of which sports person?

(@) Abhinav Bindra

(b) Vishwanathan Anand

(c) Anjali Bhagwat

(d) Sania Mirza

62. Principle - Mere agreement to commit an offence is conspiracy.
Fact —'A"and ‘B’ agreed to kill ‘C” but no act was done towards causing the death of 'C’.

(@ 'A'and 'B'are liable only when some criminal act is done in pursuance of agreement

(b) 'A’'and 'B'are not liable because there was no criminal act done

(c) None of the three

(d) ‘'A'and 'B'are liable for criminal conspiracy

63. Which of the following is not a fundamental right under the Indian Constitution?

(a) Right to freedom of religion

(b) Right against exploitation

(c) Right to property

(d) Right to equality

64. Which of the following diseases is not caused by viruses ?

(@ Cholera

(b) Hepatitis

(c) Chickenpox

(d) Measles

65. 'X'agrees to pay Rs. 25,000 to 'C" if it Trains, and ‘C’ promises to pay a like amount
to <X" if it does not rain. This agreement is called:

(a) Voidable contract

(b) Wagering agreement

(c) Quasi contract

(d) Contingent contract

66. Which is the only State in India to have the Common Civil Code?

() Nagaland

(b) Goa

(c) Uttar Pradesh

(d) National Capital

67. When a person is prosecuted for committing a criminal offence, the burden of proof is

on:
(@) Police
(b) Himself

(c) Court



(d)
68.

(@)
(b)
(c)
(d)
69.
(a)
(b)
(c)
(d)
70.
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(b)
(c)
(d)

(a)
(b)
(©)
(d)
72.
(a)
(b)
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73.

(a)
(b)
()
(d)
74.
(a)
(b)
(©)
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75.
(a)
(b)
()
(d)
76.

(a)

Prosecution

Sometimes, an accused seeks pardon from the court and offers to give evidence
against all others involved in a crime. He is called :

Informer

Witness

Approver

Clone

Burden of proof in any criminal case lies on the :

Lawyer

Prosecution

Accused

Victim

Which one of the following is not a transfer of property :

Will

Sale

Exchange

Gift

First five year plan of India was based on the :

J.L. Nehru model

Mahalanobis model

Harrod Domar model

Dada Bhai Nauroji model

National Voters Day is celebrated on :

January 26

January 25

November 26

December 10

Sometimes a person himself does not commit an offence, he helps or aids another
person. He is then guilty of:

Abetment

Conspiracy

Attempt

Support

Who has been appointed as the new Prime Minister of the state of Palestine ?
Ziad-Abu-Amr

Mohanumad Mustafa

Mohammad Shtayyeh

Mohammad Abbas

Which of the following nations won the Sultan Azlan Shah Cup 20109.
Canada

Malaysia

India

South Korea

Which among the following alkane has largely replaced the ozone layer-depleting
halomethanes in household refrigerators and freezers ?

Propane



(b)
(©)
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77.

(a)
(b)
()
(d)

78.
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(b)
(©
(d)

79.

(a)
(b)
(©)
(d)

80.

(a)
(b)
(c)
(d)

81.

(a)
(b)
()
(d)

(a)
(b)
()
(d)

83.

(a)
(b)
()
(d)

84.

Methane

Butane

Ethane

Principle - When a person gives consent for any act to be done by another, such person
cannot claim damages arising out of the act done provided the act done was the same for
which the consent was given.

Fact - 'P' gave consent to a surgeon 'S' for the removal of appendix. While removing the
appendix, 'S' removed Gall Bladder also

'P' can claim damages from 'S’

'P' cannot claim damages from 'S

'P* shall pay for surgery of appendix but not for the removal of Gall Bladder.

'P" is not bound to pay the expenses for the surgery

Black Pagoda’ is located in which State ?

Orissa

Kerala

Andhra Pradesh

Tamil Nadu

BASEL NORMS are related to the :

Real estate

Insurance sector

Banking sector

Tele communication

Directive Principles of State Policy are contained in which group of Articles of the
Constitution?

Articles 36 to 10

Articles 36 to 45

Articles 36 to 51

Articles 36 to 50

The age of retirement of High Court judges is :

64 years

65 years

No age limit

62 years

"Actus non facit reum, nisi mens sit rea’ is a fundamental principle of :

Environmental liability

Criminal liability

Contractual liability

Civil liability

Union list, State list and Concurrent list contain the following number of items,
respectively:

97, 66 and 42

66, 47 and 97

90, 97 and 49

97, 66 and 47

The rule of evidence which forbids a person from denying the truth of some statement
formerly made by him is:
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Estreat

Et seq

Estoppel

Estray

Which nation has reiterated its support for India’'s permanent seat in reformed UN
Security Council ?

France

Russia

Japan

uUsS

US has decided to end the designation of India and which nation as beneficiary o
developing countries under the GSP progranune ?

Afghanistan

Turkey

Bangladesh

Israel

Assertion (A) - When two or more States request the Parliament through their State
assemblies to enact a Central law on any State items, the Parliament may do so under
Article 252 of Indian Constitution.

Reason (R) - The Water (Prevention and Control of Pollution) Act, 1974 has been enacted
by Parliament under Article 252 of Indian Constitution

Both A and Rare individually true and R is the correct explanation of A

A is false but R is true

Both A and R are individually true but R is not the correct explanation of A

A is true but R is false

Speaker of Lok Sabha is appointed/elected by:

President

Prime Minister

Members of Lok Sabha and Rajya Sabha

Members of Lok Sabha only

The commission which rejected the linguistic basis of reorganization of states :

Dhar Commission

Cabinet Mission Plan

Simon Commission

Fazel Ali Commission

The toxicity of which of the following heavy metals leads to liver cirrhosis?

Copper

Mercury

Lead

Zinc

Who, among the following, had the longest tenure as President of India ?

Dr. A.P.J. Abdul Kalam

Shri Pranab Mukherjee

Dr. S. Radhakrishnan

Dr. Rajendra Prasad
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100.

Principle — There is a difference between motive and intention. Motive is not relevant at
the time of determining the guilt. It only becomes relevant at the time determining
punishment

Facts - A with a motive to prevent cow from being slaughtered takes it to his own house
without the consert of its owner.

A is guilty of offence of the theft and motive will help in reducing the quantum of
punishment

A is guilty of offence of theft and motive will not help him from being convicted

A is not guilty of any offence

None of the three

Which one of the following kinds of organims causes malaria ?

Virus

Protozoan

Bacterium

Fungus

Who among the following is the author of the book "Of Law and Life*"?

Justice Y.V. Chandrachud

Justice J.S. Verma

Justice A.R. Lakshman

Justice V.R. Krishna lyer

The Chief Election Commissioner can be removed from his office by the :
Supreme Court

Prime Minister

President of India

Impeachment through Parliament

Who won Indian Open Badminton Men's Singles Championship 2019:

Viktor Axelsen (Denmark)

Srikanth Kadambi (India)

Lee Yang (China)

P. Kashyap (India)

Which of the following State has minimum representation in Lok Sabha in India ?
Chhatisgarh

Himachal Pradesh

Telangana

Arunachal Pradesh

RBI increases the rate of interest in the situation of :

In the pressure of commercial banks

None of the three

Lower inflation

Higher inflation

The maxim ""Res Ipsa Loquitor’ means :

Justice is blind

The aim of law is to seek justice

In law there is a remedy for every wrong

Facts speak for themselves

The "Right to Information™ (RTIl) isa:
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(©)
(d)
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(b)
(©)
(d)
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(b)
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(a)
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104.

(a)
(b)
(c)
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105.

(a)
(b)
()
(d)

106.

(a)
(b)

()
(d)

Contractual Right

Constitutional Right

Legal Right

Fundamental Right

Manik is fourteenth from the right end in a row of 40 boys. What is his position from
left end?

26th

24th

27th

25th

Choose the missing term out of the given alternatives.

USPLG,?

A

B

D

C

The total number of digits used in numbering the pages of a book haring 366 pages :
732

1098

1305

990

Read the information given below and answer the questions that follow.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as
Mahima. Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is
twice the age of Lata.

Anita is younger than :

Rajan

None of three

Deepti

Mahima

Choose the odd one out :

Bat

Parrot

Crow

Pigeon

How many visitors saw the exhibition yesterday?

(1) Each entry pass holder can take up to three persons with him/her.

(1) In all, 243 passes were sold yesterday.

If the data given in both statement | and Il together are not sufficient to answer the
question; and

If the data in statement Il alone are sufficient to answer the question, while the data in
statement | alone are not sufficient to answer the question;

If the data in both statements | and Il together are necessary to answer the question.

If the data in statement | alone are sufficient to answer the question, while the data in
statement 1 alone are not sufficient to answer the question;
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(b)
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108.
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(a)
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110.

(a)
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(©)
(d)
111.

(a)
(b)
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(d)

112.
(a)
(b)
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A and B are married couple. X and Y are brother. X is brother of A. How is Y related
to B?

None

Cousin

Brother in law

Brother

Find the missing number 1, 4, 9, 16, 25, 36, 49, (...)

56

54

64

81

Read the information given below and answer the questions that follow.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as
Mahima. Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is
twice the age of Lata.

If Mahima is 16 years old, then what is the age of Lata?

5 years

4 years

7 years

14 years

Read the information given below and answer the questions that follow.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as
Mahima. Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is
twice the age of Lata.

What is the youngest ?

Anita

Deepti

Lata

Rajan

How many doctors are practicing in this town?

() There is one doctor per seven hundred resisdents.

(1) There are 16 wards with each ward having as many doctors as the number of wards.

If the data in statement Il alone are sufficient to answer the question, while the data in
statement | alone are not sufficient to answer the question ;

If the data given in both statement | and Il together are not sufficient to answer the
question; and

If the data in both statements | and 11 together are necessary to answer the question.

If the data in statement | alone are sufficient to answer the question, while the data in
statement 11 alone are not sufficient to answer the question;

Botany: plants : : Entomology : ?

Shakes

Germs

Birds

Insects

Find the missing term:

6, 12, 21,7 48



(a)
(b)
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(a)

(b)
(©)

(d)
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(a)
(b)
()
(d)

116.

(a)
(b)
()
(d)

117.

(a)
(b)
()
(d)

118.

(a)
(b)
()
(d)

119.

(a)
(b)
()
(d)

120.

(a)

38

33

40

45

Rajan and Madan start from a common point and walk straight in the opposite
directions. What will be the distance between them at the expiry of three hours?

() Rajan and Madan walk at the speeds of 4 km/hr and 6 km/hr respectively.

(11) Madan walks one and half times faster than Rajan.

If the data in statement | alone are sufficient to answer the question, while the data in
statement 1l alone are not sufficient to answer the question;

If the data in both statements | and Il together are necessary to answer the question.

If the data in statement Il alone are sufficient to answer the question, while the data in
statement | alone are not sufficient to answer the question;

If the data given in both statement | and Il together are not sufficient to answer the
question; and

The age of a father is twice that of the elder son. Ten years hence the age of the father
will be three times that of the younger son. If the difference of ages of the two sons is
15 years, the age of the father is:

70 years

55 years

60 years

50 years

If Z=52 and ACT =48, then BAT will be equal to :

46

44

41

39

If HEALTH is written as GSKZDG, then how will NORTH be written?

GSQNM

OPSUI

FRLMD

HIHNB

How many pairs of letters are there in the word 'CREATE' which have as many
letters between them in the word as in the alphabet?

3

2

4

1

If the following words are arranged in an alphabetical order, which word will appear
at theend ?

Olympia

Ovulet

Olympic

Oval

Complete the series 20, 19, 17, ..., 10, 5.

16



(b)
(©)
(d)
121.

(a)
(b)
()
(d)
122.

(a)
(b)
(©)

(d)
123.

(a)
(b)
(c)
(d)
124.

(a)
(b)
()
(d)
125.
(a)
(b)
()
(d)
126.

(a)
(b)
(©)

14

13

15

Which two signs should be changed to make this statement correct?
5+3x8-12+4=3

+and —

—and +

+and +

+and x

How many pages of book X did Robert read on Sunday?

(1) The book has 300 pages out of which two-thirds were read by him before Sunday.

(1) Robert read the last 40 pages of the book on the morning of Monday.

If the data in statement | alone are sufficient to answer the question, while the data in
statement 1 alone are not sufficient to answer the questions ;

If the data given in both statement | and Il together are not sufficient to answer the
question; and

If the data in statement Il alone are sufficient to answer the question, while the data in
statement | alone are not sufficient to answer the question ;

If the data in both statements | and Il together are necessary to answer the question.

Find the missing term:

2,9, 28,7, 126, 217, 344

50

70

65

82

In a family, there are six members A, B, C, D, E and F; A and B are a married couple.
A being the male member. D is the only son of C, who is the brother of A. E is the
sister of D. B is the daughter-in-law of F, whose husband has died. How is E related to
C?

Sister

Mother

Daughter

Cousin

Cattle : herd :: sheep : ?

Mob

Flock

Shoal

Swarm

Read the information given below and answer the questions that follow.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as
Mahima. Rajan is half the age of Mahima, Anita is half the age of Deepti and Rajan is
twice the age of Lata.

Which of the following pair of persons are of the same age ?

Mahima and Rajan

Anita and Mahima

Mahima and Lata



(d)
127.

(@)
(b)
(c)
(d)
128.
(@)
(b)
(©
(d)
129.

(a)
(b)

(c)
(d)

130.

(a)
(b)
()
(d)
131.

(a)
(b)
(©)
(d)
132.

(a)
(b)
()
(d)
133.

(@)

None

Read the information given below and answer the questions that follow.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as
Mahima. Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is
twice the age of Lata.

Who is the eldest ?

Deepti

Rajan

Lata

Anita

Which of the following is a leap year?

1945

1982

1704

1978

What is the monthly salary of Prashant ?

(1) Prashant gets 15% more than Sumit while sumit gets less than Lokesh

(1) Lokesh's monthly salary is Rs. 2500.

If the data given in both statement | and | together are not sufficient to answer the question,
and

If the data in statement Il alone are sufficient to answer the question, while the data in
statement | alone are not sufficient to answer the question;

If the data in both statements | and 11 together are necessary to answer the question

If the data in statement | alone are sufficient to answer the question, while the data in
statement | alone are not sufficient to answer the question ;

Five children take part in a tournament. Each one has to play every other one.

How many games must they play?

30

10

8

24

Select the word nearest in meaning to the given Word :

Meddle:

Emancipate

Disregard

Interfere

Overlook

Fill in the blanks with the correct preposition :

We all sympathise ..... the unfortunate person.

with

by

at

for

Fill in the blanks with the correct word:

.............. the timely help the patient would have died.

But for



(b)
(©)
(d)

134.

(a)
(b)
()
(d)

135.

(@
(b)
(©
(d)

136.

(a)
(b)
()
(d)

137.

(a)
(b)
(c)
(d)

138.

(a)
(b)
()
(d)

139.

(a)
(b)
()
(d)

140.

(a)
(b)
()
(d)

141.

Because of

In spite of

Even after

Fill in the blanks with the correct word:

When we set out early this morning the sun ...........

was shining

shined

had set

has set

Select the word opposite in meaning to the given Word :
Hostile:

Unfair

Sudden

Friendly

Costly

Select the correct meaning of the given idiomatic expression :
A blue book:

A government report

A secret report

A private report

A personal book

Select the correct meaning of the given idiomatic expression :
Far and wide :

Local

In the sky

All around

Under the earth

Select the word nearest in meaning to the given word: Nymph :
Airy

Fairy

Cheery

Flinch

Select the word nearest in meaning to the given word :
Genesis :

Beginning

Relevant

End

Movement

Out of the given alternatives, choose the one which can be substituted for the given
word:

A place where money is coined:

Press

Mint

Treasury

Bank

Fill in the blanks with the correct word:



(a)
(b)
()
(d)

142.

(@
(b)
(©
(d)

143.

(a)
(b)
()
(d)

144.

(a)
(b)
()
(d)

145.

(a)
(b)
()
(d)

146.

(a)
(b)
()
(d)

147.

(a)
(b)
()
(d)

148.

(a)

I would not have tolerated his rudeness, if I ........ you.
am

had been

would have been

was

Select the word opposite in meaning to the given word :
Profusion :

Decree

Charade

Scarcity

Brave

Out of the given alternatives, choose the one which can be substituted for the given
word:

A person who opposes another :

Prophet

Antagonist

Fighter

Soldier

Out of the given alternatives, choose the one which can be substituted for the given
word:

The plants and vegetation of a region :

Flora

Climate

Fauna

Atmosphere

Select the word nearest in meaning to the given word:
Aromatic :

Stinking

Fragrant

Sentimental

Amorous

Fill in the blanks with the correct preposition :

The matter was referred - the Governor.

for

from

by

to

Select the word opposite in meaning to the given word :
Virtuous :

Immoral

Miserly

Insincere

Virulent

Fill in the blanks with the correct preposition :

He insisted ........... accuracy in the project.

about



(b) for

() in

(d) on

149. Fill in the blanks with the correct word:
If he ...... to me, I will accompany him.

(@ will talk
(b) comes
(c) came

(d) will come
150. Select the word opposite in meaning to the given word :

Amiable :
(@) Friendly
(b) Agreeable
(c) Amicable

(d) Not agreeable
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